
	
PACEMAKER	(stimolatore	cardiaco)	
	
Gli	elementi	essenziali	della	sezione	analogica	del	circuito	
di	un	pacemaker	sono	riportati	nello	schema	in	figura.	Un	
sistema	 di	 controllo	 agisce	 sul	 deviatore	 in	 base	 alla	
necessità	di	stimolare	con	una	scarica	di	25	µJ	il	muscolo	
cardiaco	che	presenta	una	resistenza	Rc	=	500	W.		
Determinare	nell'ordine:	
-	 la	costante	di	tempo	del	circuito	di	scarica	supponendo	che	la	corrente	di	scarica	
scenda	in	3	ms	al	5%	del	suo	valore	iniziale	
-	il	valore	della	capacità	
-	l'energia	accumulata	nel	condensatore	
-	la	differenza	di	potenziale	alla	quale	deve	essere	caricato	il	condensatore	
-	la	corrente	massima	di	scarica	
-	l'ordine	di	grandezza	del	massimo	valore	della	resistenza	R	che	consenta	di	ricaricare	
in	condensatore	abbastanza	rapidamente	per	consentire	il	funzionamento	a	60	bpm	
(battiti	per	minuto)			
-	l'energia	erogata	dalla	batteria	per	ogni	stimolo		
-	la	carica	che	la	batteria	deve	essere	in	grado	di	erogare	in	7	anni	di	uso	a	60	bpm	
	
[t	=	1	ms;	C	=	2	µF;	25µJ;	f	=	5	V;	10	mA;	R	<<	500	kW;	50	µJ;	2,2	kC	=	610	mAh]	
	
	
	
	
	
	


